e LRLATHET ZTRIAE R E
105 % 255+ %48
ERRFEPM R R i 2 H
$F S5 0E) - e
NS R = TARRE Wk R -
BE S~ P ﬁ—%*z“&«%‘f 3 BY
TSP~PM1o >~ SOz~ NO2 ~ CO ~ TSP~ Mo« SO» « NO» < CO
N 10 ~N 2 ~N 2 N ~N
B s B e B s b 105/05/19~105/05/22
Z gL -~ ERE
_— _ — 7L
L7 s R A L I T R R -
R~ FRE %3\‘255 %x'\i"é é B
Sae A e P
2.5 ke v BUE TSP24 - p& e (ug/m®) 67 46 83
PMi p T 3iE (ug/md) 56 37 56
=4 >.—\ s
3.0 & FRAFIRT SO, EREr 0003 | 0003 | 0004
- R (ppm) ST aE 0.007 0.005 0.005
NOz % + /| B¥ #5id (ppm) | 0.039 0.029 0.040
AFeii-xd ¥ 24 CcO B ETEE 0.7 05 0.7
il (ppm) | B * 8 PFETISE | 04 0.4 0.4
i 2 E(C) 24.9-28.3 | 23.7-27.6 | 21.9-27.4
B E (%) 84.4~998 | 775~95 | 67.4~94.5
B i (m/s) 0.8 0.5 13
b o EEERN LK i A
CEE
AELPIHTREEHBTREIF FTRE
TFEF(FEDF) - CREREF
-~ P iR =k o R B~ PRI
o s BN < Rk
=% MA(S0) 2 F M F - v g(SO) - F Y F
(NO2) ~ B ik PM 1o~ b i (NO) ~ R iF itk PMo ~ B 105/05/20
’ #E s how
ko oo -~ EpE
SNSRI 1 IR s ~ F
Lk T A TR~ TG TR B2k B2k
PMpo P L£35E (ug/md) 57.2 74.3 53.2
2./ % Pl 2k SO, FIEEZE: 0.002 0.005 0.002
(ppm) | BT EE 0.003 0.009 0.003
3. % [Flipl =k NO2 & + /| pFT $5i& (ppm) | 0.031 0.023 0.017
. B :# (m/s) 1.0 1.9 2.4
= A b L5 3 0
F FplE- o Faas 24 - \;}%Q
)P o FERYEDCR o AL E HE R P BT LR
FRBEBTREZFETRE

>
»

R




PURFELHR)
R

o & s IS EBP R
Z R
FFERF-IFEEDE

- REE

Bleb | FRT RS 15 4 BEP B
BE P
pH‘;fég-E_‘ 4 ILEFt;.E;‘
L onp R BN £ § 105/05/22
-~ ERE:
P ke g 15 4 e e
WP~ ERE o AR T
pH 7.5
IS 7.2
RN 2.4
<R EE 3.5x10°
SRE A ] 14.4
%% 2.67
Z SR
AEART RS 15 B B BB EE RS S ORPIAE A S
23 BERAL AFERTAR G P ET R ARTRE

H3 REH (5L EFEHR)

- ~J P :

1% L~ Ly LmaxvL s s
Le~Lro

245 % ¢ Lueg ~ Lux ~ Lumax »

Lv: ~Lvee

- S REE

iR =k
R S~ P

o 106'1:—:45?&?‘;?:* 1 %
e 515 g BB R
J*‘:%‘,\,)'Z\T} -ﬂ—:&r&aﬂg %‘

}

\

ﬁn’g

vgv_—‘g] :
Leq‘Lx‘Lmax‘Lfl ~La~L
« ~ 20~200HZ MAFrE 3 o

105/02/01 ~ 105/02/19(-% p )
105/01/31 ~ 105/02/20(iE-p )

E/28 AN

Lveq ~Lux > Lvmax ~Lv:e ~Lva

105/02/19(= P )
105/02/20( 5. p )

3.20~200HZ 4w 3 (%4 106 — =
e e Fi106 | Figdl | Ly . | f R E
2 TARRE 2 WA MR 2 Ti5 | v 515 e%;ﬁ_f’ 24 %
%) P~ ERE iz | T i
ok L. | 625 | 656 | 641 | 714
2y L. | 582 | 611 | 483 | 69.4
1754 106 % T AR RE (1050520 | L = | 565 | 599 | 533 | 648
21 Fid v 5 15 g > L. .e| 49.6 — 41.7 —
o . 1050605 | " 7455 | — | 397 | —
kb i L..r| 437 | — | 3718 | —
3Gk R GE qu( A) L, | 621 | 654 | 638 | 730
40 L ERL S RE o L. | 578 | 604 | 533 | 69.1
(105/05/21 | L = 57.5 60.4 54.6 69.1
NS © L. 480 — 432 —
B EE R G Aang e 1050608 " [ 457 | — | 416 | —
L L. 446 | — | 411 | —
2P ERPFEIEE S Lo
P2Ep > ZRIPFRSLEY (105/05120 Lvios| 449 | 439 | 250 | 445
24 | pF - ?f 1050605 IFVi0Y| 422 | 422 | 250 | 381
# -
B | oo Lvios| 444 | 436 | 261 | 420
1050608 IFVi0¢| 407 | 414 | 250 | 416

¥ 27




ERNE £
1L g " 2PERERERHOPEF 2% - L RHRE
%iﬁ?ﬁ%#W?#%WT R8N w Lz R
wE R IR
2. e %&\QMA% E %Y 2 p MRS RAE S
7 dm P 2 ﬁ%%g#ﬂ}
3. 20~200HZ MAFHE S AT RYEDLR > L2 YE
ﬁi%ﬁﬁﬁwﬁiﬁﬁﬁfﬁﬁw£m w2
AL fRIa AR TR o
priopRi (SR - RER
— ~ 7 : - —
H BRI | ARG RGE | AT T AR RS
L eg20~200Hz - FP P ERENE/ PR
EEN. e 1 Leg20~200HZ *E R AE R
- - o =~ ERE
N TARH R R W W RE " 1
R = . . .
HERBEERSIELEEE | 5p e 105% 05" | 105# 06 * | 1054 07 *
il - TR R E 2 ke
s We 3 1 Leg20~200Hz ﬁfmﬁﬁ%ﬁiz

LA R

TR R

SRR I §
A1

ERNg2 1

d‘ﬁﬁ-ﬁ T ;?ﬁ%x\/p ] 5*‘1"‘%3\@

a1 o

z 2 :lth!}:L B =E

(;\«

n

0500~2200 -

ke

iHn %(%’61 )
~JE P

LAl 3 N g R i BRTRK
;)_g_o

B

13 R~ PP Bk 106 fe fr
25F 1 Ridic 5 15 4 i

=AY
SHER G

AETR-F o ExiTp
2B ER C ERIFEIG

- AR

P2k ;"f‘z“ F? @
JEEI ~ gp ;r,: 106?5)&
e m 105/05/20(= 7 )
| & - B oz
LGRSl At 105/05/21( 1.7 )
-~ ERE
TRAFHELIBRA I ENRELSE
5 12 EERENE S g
- (%) | 2(im) | #(m) | 2 () | () |(PCU/N)
i
2| (pwy | 30 | 1940 8 2,315 | 2,180.5
pl e
(i) | 302 | 1828 13 2,182 | 2,070
R
6| (v | 376 | 1619 8 2,030 | 1,8675
pl e
()| 207 | 152 10 1,969 | 1,7955
2. TR K PP Bk 106 B PRAR-K
5o & 23 '/nl 3; PF\?Z‘ J\—?
T D - = s - =
Tp i 5215 447 D C
B e 439 370.5 C C

3. R Riedr o 158 i

BERriddRhhss

3
w
>




Lo | BE T RA T RAL T ERE T &Y ] RE
() | #G8) | 2 () | 2 GR) | () |(PCUI)

T (jl,\ _\3_)

A
566 8,457 406 921 10,350 | 11,651.5

(ﬁﬁf@) 351 | 8903 | 383 | 971 | 10,608 | 12,0805

B (L~ 2)

Vel
400 6,896 412 792 8,500 9,694.0

el
iy | B | 7326 | 375 839 | 8881 | 10,1565
4 FFE 1 RN v 515 4 BRERIRRE
. L E R PR GE | OE
T = - =z s - =
LA
1,226 899.5 C B
p (r~2)
Yl
(5 ) 830 1,290 B C
A 730 809 A A
wp (Ar~2
el
(L ) 7745 1,016 A B
I E
LR Re* Pavgh 106 B 0 T p % Bp A& 8 ke Ao w
SRVE:AR A AN
2FF 1 HEN T SIS RE TR ZRD AR Hnea

AEKF(S1EYE

RIH | Bk | BB | AR | BT
P - P = Bl = Pl

WA ~p Y (SEYD) (SE2) (SE3) (SE4)
pH~ %R ~2% & ~ 4 1t
FIEE¥Za RIF 105/05/22
GLAS-L AL T T

~ EORlE

B =H f‘iﬁe*rﬁ? e J\?ﬁ R J\rﬁ(r e J\?ﬁ

#lzb— (SE1) | k- (SE2) | selzk= (SE3) | il:bw (SE4)

= ENE # v }% * v F‘& % 4 }% % v F‘ﬁ

AN T I T O T . T T O T O . . 0 O T . T .

1207 (207|205 | 205 | 205 [ 203 | 209 | 20.8 | 20.6 | 20.9 | 20.7 | 20.8

pH [810|8.08|8.07 810|811 |8.08 815|811 |812|8.10|8.06 |8.06
(I@T%) 27 |30 |39|29 |65 |26 |28 |40 |31 |20 |41 |27
(r('ﬁg?L) 78 |77 |76 |77 |76 |76 |77 |76 |76 |77 |77 |76

W 4" <20 <2.0|<20|<20 <2.0|<20|<20|<20 <20 (<20

L laay)| 22 |08 |@wo|@e | %t |as) |an @2 |12 |@2 |@a

w4 |70 | 7294|183 |81 |64 |70]|70 |67 |67 54|82

*40.4800.480 [0.480|0.480|0.480 |0.320|0.640 |0.640 [0.640|0.640 |0.640 [0.640

31.7(33.0(321(320|31.8|332|31.7|318|324|309|322|318

£ |46 |61 |57 |57 |39 |101|44 |45 |48 |58 |48 |47

LRlsbz pH 33 221033 EREHFEC FHPFR
BAKE 5 ERE S TERE -

¥ 47




AR E(SLEYEDR)

I

SRR
LA LR s R A
Pos AR GG

NN 13

TR B R LR

AR (EP 48

SR

FEF- AHEEDE o

- AR

RIZE | B4 5 | BB | ABAE | AB2E
Pk — Bk = Bk = Bk w
Ep o~ (SE1) (SE2) (SE3) (SE4)
A
9 o i 105/05/07
-~ ERE
1 5564
Bldb | A Af | BABAG | BBALE | ABAL
Pk — Bk = P2k = Bk w
P~ TRE (SE1) (SE2) (SE3) (SE4)
LSRR 62,051 109,189 83175 66,536
(inds./1000m®) ' ' ' '
1042 B (%) 19.33 34.02 25.92 20.73
FEYGAE 1.36 1.12 1.24 1.26
BB R A7 1.98 1.72 1.75 1.76
2. i§iEtE g
Bleb | B4 R A N N
Pk — Bk = P2k = Bk w
P~ TRE (SE1) (SE2) (SE3) (SE4)
TR
11,280~14,160 |13,440~24,960 |12,480~20,880 |11,760~17,040
(cells/L)
1042 B (%) 593~7.44 | 7.06~13.11 | 6.56~10.97 | 6.18~8.95
FEYEAE 1.38~1.72 | 147-207 | 1.70~1.93 | 1.44~1.92
BB R A 229-254 | 2.33-258 | 2.19-261 | 2.39~2.66
3. A2
Rl | pad i | ABAR | ARAE | B4R
P2k~ B2k = P = AN
ER o~ TRE (SE1) (SE2) (SE3) (SE4)
Tiop s §

(inde) 11 8 4 6
1 R (%) 37.93 27.59 13.79 20.69
% U 6 4 2 2

W 2.09 1.44 0.72 0.56
4, T fa A
AR eI R 1Y e 1Y R 1Y e
B 2k — B 2k = Pl = AN
ER TR (SE1) (SE2) (SE3) (SE4)
T ok §
(inds./1000m?) 0 0 0 0
HHE R (%) 0 0 0 0
45 B 0 0 0 0
T : : : -
HER 0 0 0 0
R
1 s @ L& 19 fangrsd b > LplFH T

2. i
3
4,

¥
7~

FER % B 5 80,238(inds./1000m?) o

A& % 15,860(cellgL) -

Bt b i 23 AP 115629 B2 5 B A o
Ffrd @ AED L REETIEL

PR3 AL FE o LRk Rk TS ES R

=




BEFFAESLPRF)

- ~NJEP
EKF o

= S~ gL
TR OL#HL ~HT i BB
2HT~H#15 4 B -~ % K
HIS#26 4 ¥ - F B

4H26~#43 i3 ~ %~ 5#43

- RER

MBf b B sFa - %Nk 1068 La
R ke 105&% 1521 )8 -

RIZE | Fe 8o LHL ~HT 4835 - % B 2HT~#15 4835 ~
T f BHIG~H26 4B T £ AH26~#43 4
P o~ p Y B R SHABMBEE~TE S R T T
o~ EpE
RIZE | Fe Bo LHL ~HT 4835 ~ % B 2HT~#15 4835 ~
T f BHIG~H26 4B T £ AH26~#43 4
FP o~ gl B AR OSHIMBERIPRT T

A#26~HA3 4B¥E ~ T B 5443

B ST RE

IR~ PR T FHE(%) —
ERR ALA7 e —
¥R —
= FRF-BRE,F AT BB R —
BRI Se X = ke
R 4R - AR
g BB AN ALFs Fi- X% 105F F Lk
or B He»106#% 15227 -
B 47 ©
e RIEb | R B LH#L ~HT 4835 ~ T B 2#T-#15 4538 -
o S pEL: T B 3HI5H26 4B EE ~ T £ 4H26~#43 i
%R L#L 7 My R CED BN RBE DHAS M~ T AT
1 4 -
2HT~#15 4 B -~ ® K
3#I5#26 4 -~ B K- CERIE
RlEb | % B LH#L ~HT 4835 ~ T L 2#7T~#15 4538 -

T 5 3H1I5-#26 4B IE ~ T £ AH26~HA3 4
BN T DHABBEE~TE B W T 0t

FE 4 B —
L -
/4.7—\—_ B M _
| PR

X AR

>
»

R




AR TOR(FEHRE)

- S RER

- P : R ZHABIF IS EE R
PP 15 | 2%
‘REyFAM-tE738 -2 4% BAEM- S TFE 4
VRS T 105/05/18
VR N AV AL N R R R A
A X =~ ERE
Z U REIF RS R R 2 Rleb | Z W AFIF LS TR R
R~ FRE 15 2 5+
B % AR (mglL) 216 256
= NHER i &2 % §(mg/l) N.D. 35.4
e £ & B4 (mg/L) 0.10 0.05
FERT = ¥ & Bér(mglL) N.D. N.D.
€ 4 H4(mglL) N.D. N.D.
£ £ fH4v(mg/L) <0.05 <0.05
£ 4 A (mglL) N.D. N.D.
R A
AERYEDER iz FER TR T LR
ERISEHT A TORE L EANHEE -
LRI EDR) - SHAER
o R Blek | %2 1(48 B H#I2) - 22 20458
' #1~#2)~ & = (4 H1A~#15)~ & = A(4%
RS BSH20~#30) « % = S(4hEEH32~#33) -
S pEL BE P = G(4h BEH34~#36)
TS 105/05/19~105/05/20
B RS TRiT 2 5 A2
i o -~ ERE
R
= R BN 221|322 323|324|325/%26
£ Epla- = o E@i
" 0.011~ 0.002~
(Kvim) 0.0080 0~0.016 | 0~0.085 | 0~0.186 | 0~0.027 0.300
2 0.142~
12~17 | 0.3~06 | 1.4~2.1 | 1.0~0.23 1.2~2.0
(mG) 0.44
CHE
AERYEDT R LS FER P TR LR
ERSEHEVEeREF L DWIFRLF - BH 2R
BEHERBEIR L 2RB ST oG

N

X
N
R




S ERRERTAGELZREFR
2 TR R (R R R R
(-)zfF &~
AEZFET
(= )i TR IR A
AZRF RPI 52 4R HER

EREHSR R

BB AT REEAD o FE
kFok Mk FAE AN BR~FKE
R A
(Z )5 k&N A
AEHRFEFESFTERES R
& RARE -
(%)»‘%"Li" MOAE W 3R A
* F AT TARRE 2 RoA M RIY A
LR G b G
()2 g A
AERAG BT R ERE S
F PR ERP R
(= )% 8k IR e
AEEREEHEEZARE
zgo
(= )AE 2 Ens
AELT RSO FEREYT S
B2 FERIALSFHART AP
Bz i oo
(M4 g
- SN AL N -
- AP Aa 1058 L ERD A
%105 & § 1% (20 )H 7 o

(4 )R8 4 4 20 A
P’tf\"fﬁ‘*ﬂi.@v%?’ r-"g‘
F- =% 105% + L=

105 F % 15(2 2 )® i+ o
(L)% 3 E TR A
ﬂ\ﬁ P% E
ZoEAHEE -
(- ) BHFRA
AERASFBTREREFD
“‘”rF F’f%ﬁ’h‘?—\@%i ?,If?«*a‘?—iﬁf%a‘ﬁ
2 RB YR

B F i
E#dhe

L BT B L TS

QU “1\4\-

PSRN

*EE P BEFAFTLRALRNEFRET R
T pae 22%19 B EF 45975 1%
ZHEBFBFTREGIHEFINE 5 25~105F %
2% 2. F R -

BT AT EARRETH LSRR

B AR HE R EAR o F el R
SR RIE R AR PR W

L A R FRE

AR E 2 iF 2 TRBL D

S |[BIEI AP I TEFIRE Y RIRT R4

Mg s o i ¢ R TYARBEET -

>
N

=




